a) Hanaute cymMMmy yriosB
NPOMN3BOJIBHOIO TpeyroJibHUKa

6) Hanantne cymmy yrnosB
NPOMN3BO/IbHOIO N-YroJIbHUKA

B) CaMonepeceKkatLwnncs
natTunyronbHUK ABCDE nmeet gpopmy
NATUKO-HEeYHOoU 3Be3a4bl. Hanaute
CYMMY YrJioB Npu "nydyax 3Be34bl.
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180.5-540

a+q+e=180

g+e+h=180

h+d+s=180

s+w+c=180

g+w+b=180
a+g+e+g+e+h+h+d+s+s+w+c+q+w+b=900
a+2q+2e+2h+d+2s+2w+c+b+g=900

? + 2(q+e+h+w+s)=900

?+720=900

?=900-720

?=180

K+z+y+x+t=540

a+g+c+d+b="
180-n+180-s+180-w+180-g+180-e=540
900-(h+s+w+qg+e)=540

X=900-540

X=360



